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Cost Accounting

Paper - BC-08
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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or maximum 
up to 30 words. Each question carries 10 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
10 A§H$m| H$m h¡&

1)	 (i)	 Write the name of elements of cost.

		  bmJV Ho$ VËdm| Ho$ Zm‘ {b{IE&
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	 (ii)	 What do you mean by cost centre?

		  bmJV Ho$ÝÐ go Amn ³¶m g‘PVo h¢?

	 (iii)	 What is overtime?

		  A{Yg‘¶ ³¶m h¡?

	 (iv)	 What is Idle time?

		  H$m¶©hrZ g‘¶ ³¶m h¡?

	 (v)	 What do you mean by Abnormal loss?

		  Agm‘mÝ¶ hm{Z go Amn ³¶m g‘PVo h¢?

	 (vi)	 What is ABC analysis?

		  A, ~, g {díbofU ³¶m h¡?

	 (vii)	What is ABC analysis?

		  Z bm^ Z hm{Z {~ÝXþ ³¶m h¡?

	 (viii)	What is Break-even point?

		  gwajm gr‘m H$m ³¶m AW© h¡?

	 (ix)	 Write the formula of material cost variance.

		  gm‘J«r bmJV {dMaU H$m gyÌ Xr{OE&

	 (x)	 Define material price variance.

		  gm‘J«r ‘yë¶ {dMaU H$mo n[a^m{fV H$s{OE&
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Give the objects of cost accounting.
	 bmJV boIm§H$Z Ho$ CÔoí¶ {b{IE&

3)	 Explain Bin-card.
	 {~Z-H$mS>© H$mo g‘PmB¶o&

4)	 Write the formula of minimum stock level and maximum stock 
level.

	 Ý¶yZV‘ ñQ>m°H$ ñVa Ed§ A{YH$V‘ ñQ>m±H$ ñVa H$mo g‘PmB¶o& ’$m‘y©bm 
Xr{OE&

5)	 Explain labour turnover.
	 l‘ {ZH$mgr H$mo g‘PmB¶o&

6)	 Explain Halsey premium plan.
	 hoëgo àr{‘¶‘ ßbmZ g‘PmB¶o&

7)	 Explain the reasons for difference in profits as per cost books 
and financial books.

	 bmJV boIm| d {dÎmr¶ boIm| Ho$ bm^m| ‘| AÝVa Ho$ H$maU g‘PmB¶o&

8)	 What do you mean by Job costing?

	 CnH$m¶© bmJV {d{Y go Amn ³¶m g‘PVo h¢?

9)	 Explain contribution.
	 A§eXmZ H$mo g‘PmB¶o&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 

answer maximum up to 500 words. Each question carries 

20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn H$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Components A and B are used weekly as fallows:

	 A VWm B àH$ma H$s g‘mJ«r àË¶oH$ gßVmh ‘| {ZåZ àH$ma go à¶moJ ‘| br 
OmVr h¢&

	 Normal uses 	 (gm‘mÝ¶ Cn^moJ ‘mÌm)	 150 units,

	 Maximum uses 	 (A{YH$V‘ Cn^moJ ‘mÌm)	 225 units,

	 Minimum uses 	 (Ý¶yZV‘ Cn^moJ ‘mÌm)	 75 units,

	 Re-order quantity	 (nwZ… AmXoe ‘mÌm)	 A - 1200 units,

				    B - 1800 units,

	 Re-order period 	 (nwZ… AmXoe Ad{Y)	 A - 4 to 6 weeks

				    B - 2 to 4 weeks

	 Calculate for each components:

	 (i)	 Re-order level;		  (ii)	 Minimum level;

	 (iii)	 Maximum level;		 (iv)	 Average Stock level

	 àË¶oH$ àH$ma H$s gm‘J«r Ho$ {ZåZ ñVamo§ H$m n[aH$bZ H$s{OE&
	 (i)	 nwZ… AmXoeñVa		  (ii)	 Ý¶yZV‘ ñVa
	 (iii)	 A{YH$V‘ ñVa		  (iv)	 Am¡gV ñQ>m°H$ ñVa
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11)	 What is a contract account? How is it prepared? Give a 

specimen of such an account using imaginary figures.

	 R>oH$m ImVm {H$go H$hVo h¢? ¶h H¡$go ~Zm¶m OmVm h¡? H$mën{ZH$ g‘§H$m§o 
H$m à¶moJ H$aVo hþEo Bg ImVo H$m EH$ àmê$n Xr{OE&

12)	 The production of an article should require 120 kg ram 

materials @`6 per kg. on completion it was found that 110 

kg of ram material costing ` 7 per kg. was  used for a unit of 

article. Calculate material cost, price and usage variances.

	 EH$ dñVw Ho$ CËnmXZ ‘o§ 120 {H$.J«m. gm‘J«r Xa 6 ê$n¶o à{V H$s. J«m. 
H$m Cn¶moJ {H$¶m OmZm Mm{h¶o& CËnmXZ H$m¶© g‘má hmoZ na kmV hþAm 
{H$ EH$ dñVw Ho$ {Z‘m©U ‘| 110 {H$. J«m. gm‘J«r Xa 7 ê$n¶o à{V {H$. 
J«m. à¶w³V H$s JB©& gm‘J«r bmJV, ‘yë¶ VWm Cn^moJ ‘mÌm {dMaUm| H$m 
n[aH$bZ H$s{OE&

13)	 Define marginal cost and marginal costing. How are the 

variable costs and fixed costs treated in marginal costing?

	 gr‘mÝV bmJV VWm gr‘mÝV bmJV boIm§H$Z H$mo n[a^m{fV H$s{OE& 
gr‘mÝV bmJV boIm§H$Z ‘| n[adV©Zerb bmJVm§o Ed§ pñWa bmJVmo§ Ho$ gmW 
H¡$gm ì¶dhma {H$¶m OmVm h¡?




